Math 098 Worksheet 5.5A Solving Rational Equations v01
NO BOOK/ NO NOTES/YES CALCUATOR
Fall 2017 Dressler

Name

Solve the rational equation. Section 5.5A.
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Solve.

32) 2x  x+5 14x + 48
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38) A company that manufactures hospital beds has fixed monthly costs of $225,000. The
average cost per bed, C, for the company to manufacture x beds per month is modeled by tt

formula

C

How many hospital beds can be manufactured per month at an average cost of $780?

~ 630x + 225,000

X
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Answer Key
Testname: WORKSHEET5.5A_SOLVINGRATIONALEQUATIONSN_V01
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11) empty set
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37) 3

38) 1500 beds
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